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Violoncello

(at the middle
c.l.b. of the bow)

V- X

.
g

69 E ® » fL —> 0> ——5> (0 ——— > 1l
N | 1 .
A | J I NN il |
8 | | Jas s M — - \ D) O —— : . x \
—_C © ——_ [ g
sfp —mf ——p<mf ———p | ——— |ppp P sf| sf
I —~
] 2| = | | ===
A7 — S— L Ol Ze o e —
&8 ——= e e =
e ( _‘_) I m T
A p—¢
very WILD,
strong stroke!
80 con sord. poco a poco >
— — — 2 rasgando! correndo! > h
& & o |
e e 0 e e
—_— —_— (ouitar fingering! THUMRB = 1)
—nf — ppp A cresc. molto! sffz
(put bow down) ! P L = N LVt
o) : 4 2k
>
Slide L.H. keeping the I
position of the fingers.
This is a "position"
VIOLENT glissando. Random notes.
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Violoncello
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